Supplementary table: P value for Figure 1B and 1B

Experiment Day?2 Day4 Day6
AG83 Control vs <0.003 <0.001 < 0.001
2ug/ml NP1 alpha= 0.050: 0.995 | apha= 0.050: 1.000 | apha= 0.050: 1.000
AGB83 Control vs <0.001 <0.001 <0.001
5ug/ml NP1 alpha = 0.050: 1.000 | alpha= 0.050: 1.000 | alpha=0.050: 1.000
AGB83 Control vs <0.001 <0.001 <0.001
10pg/ml NP1 alpha = 0.050: 1.000 | apha=0.050: 1.000 | alpha= 0.050: 1.000
GE1 Control vs <0.348 <0.050 < 0.002
2ug/ml NP1 alpha = 0.050: 0.059 | apha=0.050: 0.501 | alpha= 0.050: 0.999
GE1 Control vs <0.045 <0.001 <0.001
5ug/ml NP1 alpha = 0.050: 0.559 | apha=0.050: 1.000 | alpha= 0.050: 1.000
GE1 Control vs 10 <0.025 <0.001 <0.001
ug/ml NP1 alpha = 0.050: 0.714 | apha=0.050: 1.000 | alpha= 0.050: 1.000
AGB83 Control vs <0.010 <0.001 <0.001
2ug/ml SAG alpha = 0.050: 0.923 | apha=0.050: 1.000 | alpha= 0.050: 1.000
AG83 Control vs <0.001 <0.001 <0.001
5ug/ml SAG alpha=0.050: 1.000 | apha= 0.050: 1.000 | alpha= 0.050: 1.000
AG83 Control vs <0.001 <0.001 <0.001
10ug/ml SAG alpha= 0.050: 1.000 | alpha= 0.050: 1.000 | apha= 0.050: 1.000
GE1 Control vs <0.268 < 1.000 <0.597
2ug/ml SAG alpha= 0.050: 0.995 | apha= 0.050: 0.050 | apha= 0.050: 0.050
GE1 Control vs <0.879 <0.898 <0.774
5ug/ml SAG alpha=0.050: 0.050 | apha= 0.050: 0.050 | alpha= 0.050: 0.050
GEZ1 Control vs <0.082 <0..667 <0.581

10ug/ml SAG

alpha= 0.050: 0.353

alpha = 0.050: 0.050

alpha = 0.050: 0.050




